
/
5- X 4

la
.

-z ,- ✗ / = (5--1)/1 - X ) +8=0
>2-6,1 + 13 = 0

(X - 3)
2

= -4

f- 3 = -1-2 i

✗ ,
= 3+2 i

,
dz = 3 - Zi

1b
.
A- ( 3- zi / I = [

2+2 i 4

-2 → + zi) - [
'

? )
→ u-i-li.it

P=[
-20

A- = PCP
"

with
, ] andI

C. =p
- '

Ap = [
3 -2

2 3)
,

or :P -

- f ?,
°

, ] and c- [I }]

p=f , ;] and c-- K ;)

P=f , d) and c- 13 ;]
( far any nonzero multiple of the columns of P )
columns of r s



2A
.

W_ i • W_z = 0

ix. y, = ,
}
The thetas are orthogonal,

W-i.ws = 0 and therefore are linearly independent .
( They also span

W
. )

2b
.

We can use §=¥;.÷
,

iv. + ¥÷÷w→+F• Uf ¥3

= ¥ we, + ,%W_z + Olds

= 1+1%1=1%1 .

2C
. distcyiw) = Ily - gill = / / ( -§) / / = VÉFÉ = 050=552

.

3A
. False Counterexample : e=[ L]

,

y=[ ? ]
,

z=[ ? ]
Then I.g-

=0
, g-

• E=o
,

but e. 2=1--0 .

✗ toe
or draw/ explain : I n t

2--2
L

2=1

I can be a nonzero

multiple of e.



Jb
, Tine 1141 + 42+43112 = (411-421-43) • (41+42+43)

= U-i.lt , + Yz • 42 t 43 • 43
,

since yi•uj=o for i=j ,

= 1141112+1142112+1143112

= It 1+1 = 3
.

So
,
114+42+4311=05

. ( length is always
positive)

3C
. true let ✗ c- ¢

.

We know Ae=Xe
, for

some nonzero e
.

It follows that

HAzH= lltoell
.

But Hazell = Hell
,
since

A is orthogonal . So
,
11*11=11 tell

.

Then 11211 = 1×1 hell
,

which implies

1×1=1
,
since 11711=10

.


